
  ACE Engineering Academy Hyderabad|Delhi|Bhopal|Pune|Bhubaneswar| Lucknow|Patna|Bengaluru|Chennai|Vijayawada|Vizag |Tirupati | Kukatpally| Kolkata 

TEST ID: 508 

ACE  
Engineering Academy 

 

Hyderabad | Delhi | Bhopal |Pune | Bhubaneswar | Bengaluru |Lucknow | Patna | Chennai | Vijayawada | Visakhapatnam | Tirupati |  Kukatpally|  Kolkata 
	

H.O:	204,	II	Floor,	Rahman	Plaza,	Opp.	Methodist	School,	Abids,	Hyderabad‐500001,	

Ph: 040-23234418, 040-23234419, 040-23234420, 040 - 24750437   
 

ESE- 2018 (Prelims) - Offline Test Series                Test-16 
 

GENERAL STUDIES 

SUBJECT: BASICS OF PROJECT MANAGEMENT 
SOLUTIONS 

 
01. Ans: (c) 
Sol: There is minimum requirement of personnel 

and hence minimum cost at the project 
initiation stage. Hence statement (1) is 
wrong. 

 
02.  Ans: (c)  
Sol: Projects constraints are - Scope, Resources, 

Quality, Time and Budget.  
 
03. Ans: (d) 
Sol: Hierarchical description of risks is called 

Risk Breakdown structure 
 
04. Ans: (b)   05.  Ans: (a)  
 
06. Ans: (b)    
Sol:  
 Cost overrun  

     = 
workofvalueActual
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     = 
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     = 0.25 (or) 25% 
 
If 
 
 
   
 then project is ahead of schedule   

 

07. Ans: (b) 
 

08. Ans: (d)   09. Ans: (c)   
 

10. Ans: (a)   11. Ans: (c) 
 

12. Ans: (d) 
 

13. Ans: (a) 

Sol: tE = 
6

tt4t pm0 
 = 

 
6
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      = 
6

36
    = 6 weeks 

 

14. Ans: (a) 
Sol: Reliable means more contain. Hence we 

calculate variance of each supplier 
  

Supplier Variance 

A 77.1
6

210
2







 

 

B 77.2
6

414
2







 

 

C 4
6

315
2







 

 

D 77.2
6

212
2







 

 

  
 Variance of 'A' is less, hence he is more reliable. 
 

Actual value of work 
at a certain time 
[1200] 

Budget value of work 
at the same time 
[1000] 
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15. Ans: (c) 
Sol:  
 Life Cycle          Cost Estimate 
 1. Conceptual Stage  Indicative 
 2. Planning stage   Preliminary 
 3. Implementation stage  Definition 
 4. Monitory/controlling stage Detailed 
 5. Closure stage   Final 
 
16. Ans: (b)   17. Ans: (b) 
 
18. Ans: (d)   19. Ans: (c) 
 
20. Ans: (a)   21. Ans: (d) 
 
22. Ans: (c)   23. Ans: (c) 
 
24. Ans: (d)   25. Ans: (c) 
 
26. Ans: (d)   27. Ans: (a) 
 
 

28. Ans: (d) 
Sol:  
   
 
 
 
 
 
 
 
 
 
 
29. Ans: (b) 
 
30. Ans: (b) 

Sol: EOQ = 
c

0

C

CD2
 = 

20

20020002 
  

    = 200 units 
 
31. Ans: (c) 

Crash  
duration 

Optimum  
project  
duration 

Normal  
duration 

Total  
project cost Cost 
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32. Ans: (d) 
Sol:  

Proportionality rule 
Week 1 2 3 4 5 
Planned value 200 200 200 200 200 
Cumulative  
planned value 

200 400 600 800 100 

 
33. Ans: (c)   34. Ans: (d) 
 
35. Ans: (c) 
Sol: CPM does not cover probabilistic activities. 
 
36. Ans: (d) 
 
37. Ans: (a) 
Sol: Annual depreciation is decreasing 

continuously in case of 
 (i) Declining balance 
 (ii) Sum-of-years digit method 
 
38. Ans: (d) 

39. Ans: (b) 
Sol: At optimum project duration, the project 

cost is minimum. 

Activity 
Optimum duration 

(Days) 
Min. Project 

cost (Rs.) 
P 10 22 
Q 8 15 
R 6 23 

 24 days Rs. 60 
 
40. Ans: (b)   41. Ans: (d) 
 

42. Ans: (d)   43. Ans: (b) 
 

44. Ans: (a)   45. Ans: (c) 
 

46. Ans: (b)    
 

47. Ans: (b) 
 
48. Ans: (b)   49. Ans: (d) 
 
50. Ans: (a) 
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